CRYPTOQUIP

HMAJ QMAB CALKA QMLAA

HUJFB YUQB JAHTOZOALT UJQD
DJA, QMAB TMDRVF JZCA UQ

QMA YMUYZKD QLURIJA.
Yesterday’s Cryptoquip: THE SINGLE MOST
IMPORTANT INFLUENCE CONTRIBUTING TO AN
OUTCOME: THE BEST SUPPORTING FACTOR.
Today’s Cryptoquip Clue: O equals P

CRYPTOQUIP BOOK 1! Send $6.00 (check/m.o.) to
CryptoClassics Book 1, 628 Virginia Drive, Orlando, FL 32803
The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues
to locating vowels. Solution is by trial and error.
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